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A travel agency wants an automated system to predict travel costs. The
agency has the following data available with it.

S. No. Distance Travelling Cost <
(in Km) (in Rupees)

! 1 1 2.75

n* 2 2 3.5

w3 3 4.25
aF 1 4 4 5

q_f 5 5 5.75
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Formulate the above problem as a linear model /(x) = wo + wix to predict
the travelling cost for a given distance. The paramete @ optimal).
Apply gradient descent algorithm to find optimal parameter wi. The
ing rate for the first epoch is 0.073, and for the second epoch and
later, the learning rate is 0.091. Lef the initial value of wy is 0.5.
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